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Modellen & Simulatie

Lecture 6 - Scalaire dynamica (deel 3)



Overzicht van ModSim
• Basisbegrippen dynamische modellen

• Definities recursies, DVs, numerieke methoden

• Oplossingen DVs

• Convergentie numerieke methoden


• Dynamica

➡Scalaire dynamica

• Dynamica op Rd

• Lineaire dynamica op R2


• Bijzondere gevallen

• Lineaire kansmodellen (Markovketens)

• Niet-autonome systemen (Resonantie)

• Hogere orde numerieke methoden

Meeste

aandacht

(t/m 1 apr.)



Scalaire dynamica

• Recursies op R1

• Grafische analyse methode

• Evenwichten

• Stabiliteit

• Periodieke banen

• Bifurcaties

• Chaos


• Differentiaalvergelijkingen op R1

• Evenwichten en stabiliteit


• Numerieke methoden op R1

• Evenwichten en stabiliteit

vandaag



Scalaire dynamica

Xn+1 = F(xn) y’ = f(y) yn+1=yn+τf(yn)

Evenwicht

Criterion asymp. 
stabiliteit

Periodieke 
banen

Chaos



• Een baan is een rij  
 
waarvan 

• Een evenwicht of dekpunt is een triviale 
baan 

• Een dekpunt voldoet dus aan

Evenwichten

Scalaire dynamica 
• Recursies op R1


• Grafische analyse

• Evenwichten

• Stabiliteit

• Periodieke banen

• Bifurcaties

• Chaos


• DVs op R1

• Evenwicht./stab.


• NMs op R1

• Evenwicht./stab.

{x0, x1, . . . , xn, xn+1, . . . }

xn+1 = F (xn), n = 0, 1, 2, . . .

xn = xn�1 = · · · = x1 = x0 = ↵

↵ = F (↵)



Scalaire dynamica 
• Recursies op R1


• Grafische analyse

• Evenwichten

• Stabiliteit

• Periodieke banen

• Bifurcaties

• Chaos


• DVs op R1

• Evenwicht./stab.


• NMs op R1

• Evenwicht./stab.

Stabiliteit
• Een dekpunt α is stabiel in de zin van 

Lyapunov als voor elk ε > 0  er een  
δ > 0  te vinden is zodanig dat 

   Anders is het dekpunt instabiel. 
• Een dekpunt α is asymptotisch stabiel 

als bovendien geldt 

Stelling  Een dekpunt α is: 
• asymptotisch stabiel als |F’(α)| < 1, 
• instabiel als |F’(α)| > 1.

|xn � ↵|  ", n = 0, 1, . . . , als |x0 � ↵|  �

lim
n!1

xn = ↵



• Een 2-periodieke baan is een paar    
 
waarvoor geldt 

• Deze zijn beiden dekpunten van de 
samengestelde functie 

• Stabiel als

2-periodieke banen

Scalaire dynamica 
• Recursies op R1


• Grafische analyse

• Evenwichten

• Stabiliteit

• Periodieke banen

• Bifurcaties

• Chaos


• DVs op R1

• Evenwicht./stab.


• NMs op R1

• Evenwicht./stab.

↵,� 2 R, ↵ 6= �

↵ = F (�), � = F (↵)

F � F (x) = F (F (x))

(F � F )0(↵) = F 0(F (↵))F 0(↵) = F 0(�)F 0(↵)

|F 0(↵)F 0(�)| < 1



Een recursie  
is chaotisch op D als 

• er voor ieder  x0  kleine storingen zijn die leiden tot 
grote afwijkingen 

• er in iedere buurt van iedere            een  x0 te 
vinden is waarvoor de baan  xn periodiek is 

• er een baan (xn) bestaat die voor iedere         
willekeurig dicht in de buurt van x komt.

xn+1 = F (xn), F : D ! D

x 2 D

x 2 D



Scalaire dynamica

Xn+1 = F(xn) y’ = f(y) yn+1 = yn+τf(yn)

Evenwicht F(x*)=x*

Criterion asymp. 
stabiliteit |F’(x*)|<1

Periodieke 
banen F◦F(x*)=x*

Chaos mogelijk



Voorbeeld: bladluizen
Model continu in de tijd:  differentiaalvergelijking 
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Figure 1.1: Iterates of the model (1.1) with P0/Pc

= 0.1 and several values of �. The
iterates are connected by straight lines for visualization purposes. Independent of �, the
populations eventually tend to the carrying capacity P

c

.

environment is

P
n+1 =

�P
c

P
n

P
c

+ (� � 1)P
n

. (1.1)

Given the initial population P0 at t0, the equation (1.1) tells us how to compute the
population P1 at time t1, and from this we can iteratively compute P2, P3, etc. For
example, Equation (1.1) provides us a first example of a model in the form of an iterated
map or recursion. In Figure 1.1 some iterates of the model are shown for several values
of �. For large � the population grows faster initially, but all populations level o↵ at the
carrying capacity.

1.2 A di↵erential equation

The Verhulst model for population growth in an environment with limited resources is

dP

dt
= rP

✓
1� P

P
c

◆
, (1.2)

where P (t) is the population size, r > 0 is the uninhibited growth rate, and P
c

> 0 is the
carrying capacity of the environment.

8 CHAPTER 1. INTRODUCTION TO MODELS AND MODELLING

Suppose the population at time t0 is P (t0) = P0, and we wish to find the population
P (t1) = P1 at some later time t1 > t0. Dividing both sides by P (1�P/P

c

), and integrating
with respect to t from time t0 to t1 we find

Z
t1

t0

1

P (1� P/P
c

)

dP

dt
dt =

Z
t1

t0

r dt,

Z
P (t1)

P (t0)

1

P (1� P/P
c

)
dP = r(t1 � t0). (1.3)

Using a partial fraction decomposition, the integral on the left can be evaluated as fol-
lows

Z
P1

P0

✓
1

P
+

1/P
c

1� P/P
c

◆
dP = [lnP � ln(1� P/P

c

)]P1

P0

= ln
P1

1� P1/Pc

� ln
P0

1� P0/Pc

.

Using this result and applying the exponential function to both sides of (1.3) gives

✓
P1

1� P1/Pc

◆✓
P0

1� P0/Pc

◆�1

= er(t1�t0).

Solving for P1 yields

P1 =
er(t1�t0)P

c

P0

P
c

+ (er(t1�t0) � 1)P0
.

Note that, since t1 is arbitrary, the above relation provides us with a formula for finding
P (t) for all t > t0:

P (t) =
er(t�t0)P

c

P0

P
c

+ (er(t�t0) � 1)P0
. (1.4)

Solutions P (t) are shown in Figure 1.2, for the case r = 1/4 and di↵erent initial conditions
P0.

The Verhulst model (1.2) is our first example of a di↵erential equation. Let us reflect for
a moment on what we have done here. In contrast to the iterated map (1.1), for which
the model itself provides a recipe for computing the solution, the model (1.2) does not
directly specify how the population P (t) varies as a function of time, but only specifies
the relation between P (t) and its derivative dP/dt. Consequently, we need to solve the
di↵erential equation to determine P (t). Second, note that the solution (1.4) at time t is
expressed as a function of the solution at another time t0. If we do not know the solution
at some other time, the di↵erential equation defines a class of solutions parameterized by
the unknown constant P0 (that is, each P0 defines a di↵erent solution).
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Figure 1.2: Solutions of the Verhulst model (1.2) with r = 1/4. Independent of the initial
condition P0/Pc
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1.3 A numerical method

Suppose we did not know how not evaluate the integral in (1.3). We might try to learn
something about the solution using the following approach. Starting from the definition of
the derivative

dP (t)

dt
= lim

�t!0

P (t+�t)� P (t)

�t
, (1.5)

we approximate this infinitessimal limit by a finite di↵erence:

dP (t)

dt
⇡ P (t+�t)� P (t)

�t
, (1.6)

for some fixed, positive value of�t. (That is, we refrain from taking the limit.) Substituting
this approximation into (1.2) yields

P (t+�t)� P (t)

�t
⇡ rP (t)

✓
1� P (t)

P
c

◆
.

Denoting the approximation to P (t
n

) by P
n

, where t
n+1 = t

n

+ �t, the above formula
defines, for each �t > 0, an iterated map or recursion

P
n+1 = P

n

+�t r P
n

✓
1� P

n

P
c

◆
. (1.7)
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Figure 1.2: Solutions of the Verhulst model (1.2) with r = 1/4. Independent of the initial
condition P0/Pc
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1.3 A numerical method

Suppose we did not know how not evaluate the integral in (1.3). We might try to learn
something about the solution using the following approach. Starting from the definition of
the derivative

dP (t)

dt
= lim

�t!0

P (t+�t)� P (t)

�t
, (1.5)

we approximate this infinitessimal limit by a finite di↵erence:

dP (t)

dt
⇡ P (t+�t)� P (t)

�t
, (1.6)

for some fixed, positive value of�t. (That is, we refrain from taking the limit.) Substituting
this approximation into (1.2) yields

P (t+�t)� P (t)

�t
⇡ rP (t)
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Denoting the approximation to P (t
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) by P
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, where t
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+ �t, the above formula
defines, for each �t > 0, an iterated map or recursion

P
n+1 = P

n

+�t r P
n

✓
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Scalaire dynamica

Xn+1 = F(xn) y’ = f(y) yn+1 = yn+τf(yn)

Evenwicht F(x*)=x* f(y*)=0

Criterion asymp. 
stabiliteit |F’(x*)|<1 f’(y*)<0

Periodieke 
banen F◦F(x*)=x* niet mogelijk 

(d≥2)

Chaos mogelijk niet mogelijk 
(d≥3)



Scalaire dynamica

Xn+1 = F(xn) y’ = f(y) yn+1 = yn+τf(yn)

Evenwicht F(x*)=x* f(y*)=0 f(y*)

Criterion asymp. 
stabiliteit |F’(x*)|<1 f’(y*)<0 f’(y*)<0,  

τ<-2/f’(y*)

Periodieke 
banen F◦F(x*)=x* niet mogelijk 

(d≥2) —

Chaos mogelijk niet mogelijk 
(d≥3) —



Werkcollege voor vandaag

• Probleem 3.8  een stelsel van twee DVs eerst reduceren tot 
een scalaire DV.  Daarna stabiliteit bewijzen aan de hand van 
de definitie.


• Probleem 3.9  eenvoudig oefening met een oscillerend f(y).

• Probleem 3.10  vaststellen van de gradientmethode

• Probleem 3.11  stabiliteit van Euler voor de gradientmethod

• Project 1:  Inleveren woensdag 2 maart!


